ek66017

oeu

3-DRAWER DRESSER
ITEM # IM3D

Oeuf LLC 119 8th Street, Suite 301 | Brooklyn, NY 11215 | USA +1(718) 965-1216 | www.oeufnyc.com

Distributed internationally by:

Australia

Kido Agencies

Postal: PO Box 6039
Alexandria NSW 2015
Australia

Tel: +612 9045 7799
info@kidoagencies.com

EU

Suede Import

20 Bis Rue des Champs
92600 Asniéres-sur-Sein
France

Tel: +33 (0)140 86 06 03
suedeimport@yahoo.fr

Canada
Monte Distribution Inc.
270 Belfield Rd

Toronto, Ontario M9W 1H5

Canada
Tel: +1 866 604 6755
info@oeufcanada.com

Turkey
Operaistanbul

Cengiz Topel Cad. Tugcular sok.

No:1 Kat 3 Etiler Istanbul
Turkey

Tel: +90 212 321 8132
info@operaisatnbul.com

Korea

J2 International Inc.
(3) M|O|FQIE{LHA
MEA| e EATHE 506
YL 3045

Tel: +82 70 8247 7576

China

Arketype Limited

7F Metro Loft, 38 Kwai Hei St.
Kwai Chung, N.T.,

Hong Kong

+852 2110 9400
www.arketype.com

UK

Kids At Home Distribution
Newick Business Centre
Church Road

Newick, BN8 4NA

England

Tel: +01825 724160

Made in Latvia




ENGLISH

Important information

Read carefully.

Keep this information for further
reference.

WARNING

Serious or fatal crushing injuries
can occur from furniture tipping
over. To prevent this furniture from
tipping over it must be permanently
fixed to the wall.

DEUTSCH

Wichtige Information
Sorgféltig lesen
Diese Information aufbewahren

ACHTUNG

Wenn Mébelsticke umkippen,
kénnen ernste oder
lebengeféhrliche Verletzungen
durch Einklemmen die Folge sein.
Um zu verhindern, dass das
Mébelstiick umkippt, muss es fest
an der Wand verankert werden.

FRANCAIS

Information importante

A lire attentivement.

Conserver ces informations pour
un usage ultérieur.

AVERTISSEMENT

Risque de blessure grave en cas
de chute du meuble. Pour éviter
que le meuble ne bascule, il faut le
fixer au mur de fagon permanente.

NEDERLANDS

Belangrijke informatie

Goed lezen

Bewaar deze informatie voor
toekomstig gebruik

WAARSCHUWING

Wanneer meubels omvallen, kan
er ernstig of levensbedreigend
beklemmingsletsel ontstaan. Om te
voorkomen dat dit meubel omvalt,
dient dit permanent aan de wand
te worden bevestigd.

DANSK
Vigtige oplysninger!

Lees omhyggeligt.

Gem disse oplysninger til senere
brug.

ADVARSEL!

Der kan opsta alvorlig eller livs-
farlig tilskadekomst, hvis moblet
veelter. For at undga at mgblet
veelter, skal det fastgores
permanent til veeggen.

Viktig informasjon

Les noye.

Ta vare pa denne informasjonen
for fremtidig bruk.

ADVARSEL

Alvorlige ulykker kan skje som
folge av mgbler som velter.

For a forhindre at dette mabelet
faller, ma det festes permanent til
veggen.

VENSKA

Viktig information

L&s noga

Spara informationen for framtida
bruk

VARNING

Allvarliga eller livsfarliga
klamskador kan ske om mébler
tippar éver. For att férhindra att
den har mobeln tippar maste den
fastas permanent vid vaggen.

SESKY

Dulezita informace
Ctéte pedlive.
Uschovejte pro pozdéjsi popuziti.

VAROVANI

Pokud se nabytek pfevhrhne,
muze dojit k velmi vaznym nebo
dokonce fatalnim poranénim.
Abyste pfevrzeni nabytku zabranili,
musite ho natrvalo pfipevnit ke
sténeé.

ESPANOL

Informacién importante

Leer detenidamente.

Guarda esta informacion para
consultarla en el futuro.

ADVERTENCIA

Pueden producirse lesiones graves
o fatales si vuelca un mueble. Para
evitar que vuelque este mueble,
debe fijarse permanentemente a la
pared.

ITALIANO

Informazioni importanti.

Leggi attentamente.

Conserva queste informazioni per
ulteriori consultazioni.

AVVERTENZA

Se il mobile si ribalta pud causare
lesioni da compressione serie 0
fatali. Per prevenire il rischio che il
mobile si ribalti, quest’ultimo deve
essere fissato permanentemente
alla parete.

PORTUGUES

Importante!

Ler estas instrucdes
cuidadosamente. Guardar como
referéncia.

IMPORTANTE

As quedas de moveis podem origi-
nar esmagamento ou morte. Estes
méveis devem ser fixados a pare-

de para evitar possiveis quedas.

POLSKI

Wazne informacje
Przeczytaj uwaznie.
Zachowaj ulotke na przysztosc.

UWAGA

Przewroécenie sie mebli moze
doprowadzi¢ do powaznych ob-
razen lub Smierci. Aby zapobiec
przewrdceniu sie mebla, nalezy na
state przymocowac go do $ciany.



Svariga informacija
Rap1gi izlasiet.
Saglabajiet So informaciju
turpmakai uzzinai.

UZMANIBU

Meébeles apgasanas var radit
nopietnas vai navéjo$as traumas.
Lai ST mébele neapgaztos, to
nepiecieSams pastavigi nostiprinat
pie sienas.

EESTI

Oluline teave

Lugege hoolikalt.

Sailitage see teave hilisema
vajaduse tarbeks.

HOIATUS

Mé6bli tmberkukkumisel vdivad
kaasneda tosised voi surmaga
Idppevad vigastused. Selle
véltimiseks tuleb mbéobel jdddavalt
kinnitada seina/pdranda kiilge.

LIETUVIU

Svarbi informacija
Atidziai perskaitykite. Saugokite
Sias instrukcijas.

JSPEJIMAS

Jei baldai virsty ar kristy, galima
smarkiai ar net mirtinai susizeisti,
todél baldus reikia pritvirtinti prie
sieny.

ROMANA

Informatji importante

Citeste cu atentje.

Pastreaza aceste informatii pentru
refe- rinte ulterioare.

ATENTIE!

Pot surveni rani grave daca te
impiedici de obiectele de mobi- lier.
Pentru prevenirea ranirilor, fixeaza
mobila pe perete.

Délezité informacie!

Citajte pozorne.

Informacie si uschovajte pre pripad
po- treby.

UPOZORNENIE

Prevrhnutie nabytku méze sp6-
sobit vazne ¢i smrtelné zranenia.
Aby sa predi$lo prevrhnutiu
nabytku, upevnite ho ku stene.

LOVENSCINA

Pomembne informacije
Pozorno preberite.

Shranite navodila za morebitno
ponovno uporabo.

OPOZORILO

Ce se pohistvo prevrne, lahko pri-
de do resnih telesnih poskodb. Da
bi prepredili nevarnost, da se to
pohistvo prevrne, mora biti
pritrjeno na steno.

URKCE

Onemli bilgi

Dikkatli okuyunuz.

Bu kilavuzu ilerde gerekebilecegi
icin saklayiniz.

UYARI

Mobilyanin devrilmesi sonucu
6limcil veya ciddi yaralanmalar
meydana gelebilir.

Devrilme riskini dnlemek igin
mobilyanin duvara sabitlenmesi
gerekmektedir.

PYCCKWUM

BaxxHasa nHpopmauua
BHUMaTensbHO npouuTanTe.
CoxpaHuTe 3Ty nHhopMaumio.

BHUMAHUE

OnpokuabiBaHve mebenu

MOXET NPUBECTU K CEPbE3HbBIM
NN CMepTeNbHbIM TENECHbIM
nospexaeHuamw. [nAa
npenoTspaleHna
onpoknabIBaHMA Mebenb A0/mKHa
ObITb NOCTOAHHO NPUKpPerieHa K
CTeHe.

INUAvTIKA TANpodopia
Al0BACTE TIPOOEKTIKA

®ulGEte autn TV Mnpodopia
yla HEAAOVTLIKN avadopa.

NMPOEIAONOIHZH
>oBapoi " polpaiot
Tpaupatiopoi arndé cuveAyn,
propei va cupBoulv anod 1o
avarnodoyUplopa ETUTAOU.

Ma va nmpoAapBdvetal To
avarnodoyUploua evog eTimAou,
auTo Ba mpénel va eivat povipa
OTEPEWHEVO OTOV TO(XO.

7477t ORI M5t 2y0] st
= QU BLICH 7H7 HoiX
HF5|2{0d HF SA| 80]| TR A|FHOF S|
Ct.

X
=

EBEE
B
REBUES, MEAFS
BE

KA FTEE
%0
ABpLEIRE, REMITUKA S IEEE
% EE.

EEE
COHRBAECEIEERBHRIEE
NTVWEY, FHPEEZ LB
(T2, EULLSZERLE TV,
COHBEE. LWDTESEBTE
3L CAY CHRELTLES
LY,

25

KEDIGAIICLY ., REDTEHE
(CTR>T KT H. HBLIEEGIC
MO L OME BEZEIBERH
HFET, REOERAIZER <fc
. KEQFU->HDWEECEEL
TL £,

g
EZEH
ST ARRDHE.
KHBE,
%%%
RE R TSR E Y
%. REA LEER BB
TR

l.I_I_
»
1o
2

Z,

\\

SHEERFH AN

AR fRERLLED B, DA

ﬂlll’
I]]



CLASSIC BASE

4 I

3

A
=@
>

E
B g © 8

D| (INID |4 \
Mexa0 | P -
( ) [H 0o ° 2
B| €)oo |3 % ps
L D4,5x45 pCSj L )
R| (o 3| (K| Gm 3,
C @j 3| |L 3
@40 | PCs pcs




(7 N\
D D 4
M8x40 | P @
@)
x4
~— S
\_ Y,

Go to page 14 for final assembly.



SPARROW BASE

[k

X

00:30 h

\
>
=@

24,5x45

C @j 3
_ 240 PCS)
= 4

% @ pcs
Yy
\_ @35x14 )
Fl Q) ) |4

@Déx| |

D6x35

@))-)))))))))))))))))))))))))))))))))))))))>

M8x50







M8x50 | P

- J

Go to page 14 for final assembly.



RHEA BASE

(@f

00:30

>

(D4,5x45

| [P

040

D QLI

M8x40

D35x14

pCs
6mm )
H 2
pCs
S |
. oex! 1 [P
L 3
L pCSj
M 4
\ pcsj
o |4
. 28x30 | P




L9)

)




~

6mm

M8x40

{D MMM

/

D —
~__ L

L

N

" (25mm)

10






FAWN BASE

(R

B & )ooommm 6
v4,5x45 |PC3
g40 |PCS

L
== gE)

P6x35

12



J

Go to page 14 for final assembly.

13



FINAL ASSEMBLY

-

~__

\
CLASSIC BASE

s M
B| &)oomonuni 3]|C @:) 3
\ @45x45 |P°) @40 |PC
SPARROW RHEA FAWN BASE
'd N\
R <H‘ 3

M4ax3s | P

14



LI

15



The most secure attachment of the bracket is when at least one of the screws can go into a stud in the
wall. If the screws provided are not long enough to reach the stud, you will need to provide a longer
screw. To attach to a stud, measure 711 mm (28 inches) from the floor and attached the bracket using
the center hole.

If you can not locate a stud or the position would be too impractical, please use the anchors provided and
follow the instruction below. The anchors are designed for sheetrock and brick/concrete walls.

1. Determine where you want the dresser positioned.

2. Find the center of the dresser from side to side and mark the wall with a pencil. (The center is located
at the center of the bracket you just attached to the dresser!)

3. For Sparrow, Fawn and Robin bases measure 724 mm (28.5 inches) from the floor at the center mark.
For Classic base measure 714 mm (28 inches) from the floor at the center mark.

4. Position the template so the intersection of the dotted lines is at your last mark on the wall.

5. With a pencil, mark the wall at the two “+”.

6. Remove the template and drill two 6 mm (1/4 inch) holes at the two marks.

fold on dotted line A

Classic: 714 MM./ 28 inches

Sparrow, Fawn & Robin: 724mm / 28 1/2 inches from the floor

............................................................................................................................

16



@ )oooenoenorno> )
@35x40 |P°)
J
)
pcs
J

When positioning dresser in its final location, be sure the
brackets are overlapping and aligned with each other!

17





